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Neuron
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= A Neuron is a structured and functional unit of the nervous

system and unlike other cells, neurons are irregular in shape
and able to conduct electrochemical signals. The different
parts of a neuron are discussed below.
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= | Dendrite|stretches out from the cell body of a neuron, and it is the

shortest fibre in the cell body.—> Rerives s+ mudiss .
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= Axon is the longest thread on the cell body of a neuron and has an

insulating and protective sheath of myelin around itr—ﬁ'fmmﬂf
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. consists of cytoplasm and nucleus.
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= Synapse: Synapse is the microscopic gap
between a pair of adjacent neurons over which
nerve impulses pass, when moving from one

neuron to the other.
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Neurotransmitter : Neurotransmitter is a type
of chemical messenger that transmits signals
across a chemical synapse, from one neuron
to another.
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Examples of neurotransmitter : ?{ffa'mﬂ?\* & IIe U

o Acetylcholine o acetylcholine ( J3{|ZI57n %)
o Dopamine o SIqTHTEA
o Histamine o feweri=

o Serotonin o W=
o Epinephrine o TUAWH
o Norepinephrine o ARYATEA
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@ ORIGIN: from ectoderm (>@M)23w &

Weight of adult human brain =1300 to 1400 gms or 3
pounds.
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Jhe human brain is about 2% of total body weight.
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Width = 140 mm wide [, F131 ST A&

length = 16/ mm long.
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# Brain is utilized 20% of blood oxygen.




LOCATION OF BRAIN:

Skl

Meninges

Brain

Skull

Ventricles
(fluid filled)

!

Fluid between
the meninges

Spinal cord

National Cancer Institute
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The brain is made of three main parts:
forebrain, midbrain, and hindbrain.
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